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1 |070101096001 |#fBR#1101E 55 K J= P B8k m2 47 108.71 5109.37
(1) |f%R1-1-96 PUBCR IR R RAJEHR =ZELA 10m2 4.7 294.10 1382.27
<1> T¥E = QDL=47
(2) |A1-1-116 BN BB TS 1000m3 0.0564 6690.70 377.36
<1> = QDL*1.2=56.4
<2> LEREEHE(GCLMXHI) = 56.4000=56.4
(3) |ar-1-117 g |FEPTCREEDT 2L SEREREKM) 000m3 0.0564] 59396.58  3349.97
<1> L& = QDL*1.2=56.4
2 |011604002001 |FFEREEKIZE CihiRMED m2 253.24 11.88 3008.49
(1) [A1-19-21 SETHFR ARG B — MR K ot . R EEL I 100m2 2.5324 957.26 2424.17
<1> LfE8 = QDL=253.24
(2) |AL-19-69 # *ﬂ?ﬁiﬁgi%)j\ﬁggﬁmi 3kmi | 103 0.6331 924.10 585. 05
<1> TfE& = QDL*0.025=6.331
3 |070101078001 |HfFR#26 #3445 bk m2 110.73 8.91 986.60
(1) |f4R1-1-78 N LR IRRR A 10m2 11.073 70.59 781.64
<1> Lf#& = QDL=110.73
(2) |AL-19-69 # *ﬂ?ﬁiﬁgi%)jﬁggﬁ%Eﬁ 3kmi | 103 0.22146 924.10 204.65
<1> TfEE = QDL*0.02=2.2146
BTN
4 |010607003001 | 5% m2 22.08 193.66 4276.01
(1) |A1-16-213 # |WZ WEEiR #o8 DRI 6 1] 100m2 0.2208| 19365.57 4275.92
<1> Tf&& = QDL=22.08
22411 4
5 010516002001 |FH#Ek{F t 0.0535 9375.94 501.61
(1) |A1-5-150 TR LA t 0.0535 9375.94 501.61
<1> Lf#& = QDL=0.0535
6 |010101004001 |(#z3Edhi+J7 m3 23 10.06 231.38
(1) |A1-1-37 Bz — g —. =%+t 1000m3 0.01932 4471.82 86.40
<1> TfEE = 19.32=19.32
(2) |A1-1-44 R — Rt — %tk 1000m3 0.00368 4955.66 18.24
<1> Tf#& = QDL-19.32=3.68
(3) |A1-1-52 REHMAE LTS 1000m3 0.00368 2844.54 10.47
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<1> Tf#& = QDL-19.32=3.68
(4) |A1-1-53 #t ﬁ%fﬁﬁ?ﬁzﬁéj:jf Jaitkmiy - SKBREEEC | 000m3 0.00368|  31586.55 116.24
<1> Tf#& = QDL-19.32=3.68
7 (010103001001 |[Al4E 7 m3 19.32 19.17 370.36
(1) |A1-1-129 A FFSENLAT SR HEL bt 100m3 0.1932 1917.37 370.44
<1> Tf#& = QDL=19.32
8 |010501003001 | 7 JEfit: m3 3.68 595.56 2191.66
(1) |A1-5-2 PRSI IR Gt oA VR 1 S Ak 10m3 0.368 755.87 278.16
<1> TfE& = QDL=3.68
(2) (8021902 Wl TR L BEA RIS A T C15 m3 3.7168 514.82 1913.48
<1> Tf#& = ZZCLL2=3.7168
9 |011210002001 |RARHTIHR m2 219.68 277.29] 60915.07
(1) |A1-7-155 PEBERAN S 22 t 1.7931 1942.19 3482.54
<1> #110 = 14*6.3*5.369/1000=0.4735
<2> #4-6 = 14*6.2*5.369/1000=0.466
<3> AAJEF MR = 6%6.3*5.369/1000=0.2029
<4> #110 = 7*(14.6-14*0.04)*2.755/1000=0.2708
<5> #4-6 = 7*(14.5-14*0.04)*2.755/1000=0.2688
<6> AAJEFZ RN = 7*(6-6*0.04)*2.755/1000=0.1111
<7> LEHEEH(GCLMXHI) = 0.4735+0.4660+0.2029+0.2708+0.2688+0.1111=1.7931
(2) |A1-7-154 P BN S Ak t 1.7931 9437.87|  16923.04
<1> #110 = 14*6.3*5.369/1000=0.4735
<2> #4-6 = 14*6.2*5.369/1000=0.466
<3> fAAJEF MR = 6%6.3*5.369/1000=0.2029
<4> #110 = 7*(14.6-14*0.04)*2.755/1000=0.2708
<5> #4-6 = 7*(14.5-14*0.04)*2.755/1000=0.2688
<6> AAJEFZ RN = 7*(6-6*0.04)*2.755/1000=0.1111
<7> LEHEEH(GCLMXHI) = 0.4735+0.4660+0.2029+0.2708+0.2688+0.1111=1.7931
(3) |A1-13-241 WRTEZ RN AR 100m2 2.1968| 18439.88| 40508.73
<1> Tf&& = QDL=219.68
10 011210002002 [E#IiR m2 286.674 142.39| 40819.51
(1) |A1-7-155 PEREEN AR 22 t 2.4138 1942.19 4688.06

<1> #34 = 5*8.58*5.369/1000=0.2303
<2> #15-19 = 20*5.5*5.369/1000=0.5906
19*4*5.369/1000=0.408

<3> #11-23
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<4> #26 = 5*9.6*5.369/1000=0.2577

<5> #34 = 9*(5.3-5%0.04)*2.755/1000+2*(2.18-0.04*2)*2.755/1000=0. 138

<6> #34K4E = 2*1.41*2_.755/1000=0.0078

<7> #15-19

7*(20-20*0.04)*2.755/1000=0.3703

<8> #11-23 = 5*(19-19*0.04)*2.755/1000=0.2513

<9> #26 = 10*(6-5*0.04)*2.755/1000=0.1598

<10> #5859 (GCLMXHI) = 0.2303+0.5906+0.4080+0.2577+0.1380+0.0078+0.3703+0.2513+0.1598=2.41
38

(2) |Al1-7-154 MM S 20 HiME t 2.4023 9437.87| 22672.60

<1> #34 = 5*8.58*5.369/1000=0.2303

<2> #15-19 = 20*5.5*5.369/1000=0.5906

<3> #11-23

19*4*5.369/1000=0.408

<4> #26 = 5*9.6*5.369/1000=0.2577

<5> #34

9*(5.3-5*%0.04)*2.755/1000=0.1265

<6> #34KE = 2*1.41*2_.755/1000=0.0078

<7> #15-19

7*(20-20%0.04)*2.755/1000=0.3703

<8> #11-23 = 5*(19-19*0.04)*2.755/1000=0.2513

<9> #26 = 10*(6-5*0.04)*2.755/1000=0.1598

<10> #5845 9 (GCLMXHI) = 0.2303+0.5906+0.4080+0.2577+0.1265+0.0078+0.3703+0.2513+0.1598=2.40
23

(3) |A1-13-242 RTEL AR VB AR 55 1 100m2 2.86674 4694.36| 13457.51
<1> Tf¢® = QDL=286.674

11 [{010607002001 | R4EENEHH A m 10.8 92.54 999.43

(1) |A1-16-111 ANFMEREAT ] %2 100m 0.108 9253.62 999.39
<1> TfE& = QDL=10.8

12 (010807007001 |4 <4ifeds & m2 2.856 294.75 841.81

(1) |A1-9-207 e T 22 e 100m2 0.02856 8474.68 242.04
<1> Tf&& = QDL=2.856

(2) |MC1-99 BB < WU HERL B 90 £ 51 m2 2.856 210.00 599.76
<1> Tf&& = QDL=2.856

Bk LI R

13 |011406001001  |HKAK T m2 253.24 28.21 7143.90

(1) |A1-15-160 LR JECTH 3 TR ol PRI RS RETR | 100m2 2.5324 2820.80 7143.39
<1> LfE8 = QDL=253.24

14 (011201001002 |4 — M3k K m2 253.24 43.11| 10917.18
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(1) |A1-13-2 # TRRb42 B () - 25 100m2 2.5324 2958.30 7491.60
<1> LfE8 = QDL=253.24
(2) 180010220 WKW H (B A ) b 1:2.5 m3 7.268 471.26 3425.12
<1> T8 = 5J2=7.268
15 |011406001002  |FEAK I v m2 253.24 18.57 4702.67
e ﬁizuuﬂﬁﬁﬂw\(m TN BETH 6] — i
(1) |A1-15-152 #& bR T A (i) - 2 100m2 2.5324 1857.00 4702.67
<1> LfE8 = QDL=253.24




